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KOHTpOJIBHO-OIIEHOUYHBIE CPEICTBA YUEOHOTO MpeiMeTa pa3padoTaHbl Ha OCHOBE TpeOOBaHUN
— ®denepanbHOro roCyJapCTBEHHOT O 00pa30BaTEIbHOTO CTaHJIapTa CpeIHero
npodeccuoHanbHOrO  oOpa3zoBaHus 1o crneuuanbHocTd  15.02.14  OcHamieHue cpencTBamMu
aBTOMATHU3AIMH TEXHOJIOTUYECKHUX MPOIIECCOB U MPOU3BOACTB (TI0 OTPACIISIM);
— @enepadbHOrO TOCYIApPCTBEHHOIO 00pa30BaTENBbHOIO CTAaHAApPTa CPEAHEro  OOIIero
oOpa3oBaHus;
— ®enepanpHOI 00pa30BaTEIHLHON MPOTPAMMBI CPEIHETO OOIIEro 00pa30BaHUS
U C Y4ETOM
— Paboueii mporpammbl BocmuTaHus mo crnenuansHocTd 15.02.14 OcHaieHue cpencTBaMu
ABTOMATHU3AIMH TEXHOJIOTHIECKUX MPOIIECCOB U MTPOU3BOACTB (TI0 OTPACIISIM);
— Pexomenpmanmii mo peanu3alM CpeiHEro OoOIIero oOpa3oBaHMA B MpeiesaX OCBOCHUS
00pa30BaTeNIbHOI MPOrpaMMbl CPETHETO MPOQPECCHOHATHHOTO 00pa30BaHUs;
— IlpumepHoit pabodeil mporpaMMbl 00IIe00pa30BaTEILHON MUCIUILTAHBI «HOCTpaHHBIN
S3BIK B MPO(ECCHOHATBHON AEITETLHOCTIY JUTsl MPOQECCHOHATBHBIX 00pa30BaTEIbHBIX OpraHU3aIUi.

Pazpaborunk: IlomxumaeB.A.M., mpenomaBatens [AIIOY CO  «CyxoJIOXKCKHMA
MHOTONPOPUIBHBIA TEXHUKYM)
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1. ITacnopT KOMILJIEKTAa KOHTPOJIbHO-U3MEPUTEJIbHBIX MATEPHUAJIOB
Kommnexr KOHTPOJIbHO-USMCPHUTCIIbHBIX MATCpUaIOB MPCAHA3HAYCH JIA HPOBCPKU PE3YJILTATOB

OCBOEHHUSI Y4eOHBIX JehcTBUN «VHOCTpaHHBIN $3bIK B NpO(ECCHOHANBHOM nedTenpHOCTH». B
pe3yJbTaTe OLEHKH OCYIICCTBIISICTCS MTPOBEPKA CICTYIOMNUX 00BEKTOB:
O0beKTHI OLleHUBAHUS Iloka3zatenu Kputepuu Tun ®opma
3a/aHusl; | aTTeCTAIHH
Ne
3aIaHust
VYmenusn:

V.1. - BeCTH JIHAJIor -IIOHUMAaTh [oro | - OTACHSACT Nel-4, 11, Texymmii
(masnor-paccrpoc, nuanor-oomen | BPICKa3bIBaHMA w3 riaBHyl0  wHpopMmammoo | 12, 19, xoHTpOIH
MHEHUSMHU/CYKICHUSIMH, JIAAJIOT - cobecenHnKa wia | OT 22, 3HAHUU
noGykaeHNe K AeficTBHIO, oTHKeTHbIH | Hanoonee BTOPOCTEIICHHOM; 23-27, 30
qManor W WX KoMOuHauum) B | PACTIPOCTPAHCHHDI - BBISBIISICT Nol-13 n

CHTYaLHAX o , TOroBas
CUTYalusIX OQHUIMAILHOTO | HanGornee SHAIUMBIC | no1 3 6 | arrecTa
ITOBCETHEB el, 3, 6, s B
HEO(PHUIIUATEHOTO OOIICHUS. (akTsI, onpenenser coe 7-14 bopme
OK 4 obmenus; OTHOIIICHHE K HAM P —
OK 5 - H3BIICKATH A CpeHLUHp
OBAHHOTO
OK 6 ayIMOMaTepUaIoB
K1 4 HEOOXOIUMYIO 3auera
’ HAHTEPECYIOLIYIO
I1K3.4
nHPOPMAIHIO
V.2. - coobmath CBeAEHHUS O ceOe U | -HCIOJIb30BATh n3Bieka( Nel, 3, Texymmii
v
3aII0JHATh PAa3IMYHbIC BHUIbI AHKET, | IPUOOPETEHHEIE HEOOXO0 UM 11, KOHTPOJIb
p puoOp MUMYIO,
pe3toMe, 3asBJICHUN U Jp. 3HaHUA M YMECHHA B | HHTEPECYIOIIYIO 12,21 - 3HAHUN
OK 1 IPaKTHYECKOH HH(POPMAIINIO; 26,
OK 2 ACATENBHOCTH 1 -0T/IeNsAeT rnaBHylo 28
OK 3 TIOBCCAHCBHOM KU3HU | yH(opMAaLKIO OT Nel-13 Hrorosas
OK 4 BTOPOCTENIEHHON No2-4, 6, | arrecTanus B
OK'5 7, dopme
[K2.1 12,14 | muddepenmup
K33 OBaHHOTO
T1K4.1 3a4dera
¥.3. - NOHUMATh OTHOCUTEIBHO MOJHO | -OCYIIECTBIATh 3aIpoc| - BCTYIAET B Nel-3, 12, Texymmuit
Yy p yn yi
(oOmmmit CMBICIT) BBICKA3bIBAHUS 1 00001eHNe OOIlIeHKE; 25-27 KOHTpPOJIb
Ha WHOCTPAHHOM SI3bIKE B HHDOPMALIHH; - MOJIEPKUBAET 3HAHUH
Pa3IUYHBIX CHUTYaIUsIX -06paImarses O6H.ICHI:I€ WA TIEPEXOIUT
po(heCCHOHATBFHOTO OOIIEHSL. pasbACHEHHAMH, K HOBOU
OK'1 - BBIpaXXaThb CBOE€ TEME; Nel-12 HroroBas
OK 2 OTHOLLIEHHE - 3apepiact Nel, 5, | arrecrauus B
OK 3 (cormacwue, ofwenue 8- dopme
OK 5 HECOTJIACUE, OIICHKY) 10, 12, 14| Auddepenuup
K1 .4 K BBICKA3bIBAHUIO OBAHHOIO
HKZ.I cobeceIHUKa, CBOE saueTa
HK3.3 MHCHHUE
’ o o0CyKaeMoit Teme




V.4, - yuTaTh YEPTEIKU U TEXHUUECKYIO | ~-IOHUMATh - BCTYIIA€T B Nel-3, 12, Texymwmii
JOKYMEHTAII0 Ha HHOCTPAaHHOM BBICKa3bIBAHUS obuieHwne; 25 KOHTPOJIb
SI3BIKE. cobeceTHIKa B | - H0IEPKUBAET 3HAHUH
Haunbosee oOlIeHNe UK IEPEXOANUT
pacmnpocTpaHeHHbIX K HOBOH
CUTYaIUSIX TeMe;
TIOBCETHEBHOTO
OK1 0OILIEeHNS; - 3aBepIaeT ooIIeHNe Nel-13 Hrorosas
OK 2 - BbIpaXaTth  CBOE Ne2-4, 6, | arrecranus B
OK 3 MHEHHE 110 7, dopme
IK1.4 06CyxIaeMOii TeMe 12 muddepenump
K21 OBaHHOTO
3adera
V.5. - HaspBaTb Ha MHOCTPAHHOM| -HCIOJB30BATh - n3pnekaer| Nel-4 Texymuii
SI3BIKE MPUOOPETEHHBIC HE00XO0AUMYIO, KOHTpPOJIb
MHCTPYMEHTBI, 000py10BaHHe, 3HaHUS W YMCHHS B | MHTEPECYIOIIYIO 3HAHUH
OCHACTKY, TIPHCIIOCOOJICHHSI, CTAHKA NPAKTHYECKOM MH(OPMALIHIO;
HCIOIBL3YCMBIC  ITPU NIeSITeTLHOCTH U | -OTHeNser [JIaBHYIO
BBINOJHEHUH TTPO()ECCHOHATBHOM IOBCEIHEBHOMN MH(OPMALIHIO OT
ACATEIBHOCTH. JKA3HU. BTOPOCTENEHHOMN
OK 1 Nel-5, Wrorosas
OK 2 Nel,3, 10 | arTrecrauus B
0K 3 bopme
1K1.4 abdepenip
K2.1 OBaHHOT'O
3a4era
ve6. - IIPUMEHSTh -IIPaBUIIEHO - ucnonp3yer | Ne22, 23- Texymuit
po¢eCCHOHATbHOOPHEHTHPOBAHHYIO | YIOTpPEOJIATh JISKCUKY | ciykeOHble cioBa st | 27, 30 KOHTPOJIb
JIEKCUKY MHOCTPAHHOTIO A3bIKA | B 3aBHCHUMOCTH OT | OpraHHM3alux 3HAHUH
TIPH BBITNIOTHEHUH TPO(YECCHOHANBHON | KOMMYHUKATHBHOIO COYMHUTEIBHON u
JeATENIbHOCTH. HaMepeHUsl; 00Janarh | MOJYMHHUTENIBLHON CBSI3M
OK1 ObICTPOil ~ peakiued | B MPEAJIOKEHHH, a TAKXKe
OK 2 Ipu BBIOOpE | JTOTMYECKOH ) CBA3M | \o1g Wrorosas
OK 3 JIEKCUYECKUX €IUHUIL. NpEAI0KCHUU B YCTHOM Ne 1-6, 9, | arrecrarus B
IK1.4 U IUCHbMEHHOM TEKCTE. (bopme
[1K2.1 i depentup
OBaHHOTO
3agera
vy.i. - yCTaHaBJIMBaTh -IOHUMATh BbICKA3bIBA - BCTYTIAeT B Ne 23-27, Tekymnit
MEKIMYHOCTHOE OOIIEHHE MEXKLY cobeceuka B HauO( oOuieHME; 30 KOHTpOJIb
y4acTHUKaMH JBikenuss WS | PaclpOCTPaHEHHBIX - HOAIEPKUBAET 3HAHUHI
pasubix crpan. OK 1 CHTYalMAX HOBCCIHEB | o{mieHne WM MEPEXOUT
OK 2 obuenus; K HOBOM
OK 3 ) HM3BIICKATL TEME; Nel-13 Urorosas
K1 .4 ayJauoMarepuanoB - 3aBepIuaeT Ned, 2,9, | arrectauns B
K21 HE0OX0MMYIO oOrieHue. dopme
WHTEPECYIOIYIO maddepertmp
HH)OPMAIIHIO. OBaHHOTO
3a4era
V.8. - CaMOCTOSITENIFHO | -HCIIOJIb30BaTh - HM3BJIEKAET Nel-4,19, | Tekymmuit
COBEPIICHCTBOBATh YCTHYIO U | IpHOOpEeTEeHHBIE HEO0OX0ANMYIO, 23-27 KOHTPOJIb
MTUCHMEHHYIO 3HaHMA M YMEHHS B | MHTEpECYIOILYIO SHAHWH
Hpo(ECCHOHATFHOOPHEHTHPOBAHHYIO | PAKTUYECKON HH(POPMAIHIO.
peub, IOMOJHATh CIOBapHBIN 3armac. ACATCIPHOCTH U




OK1 MOBCEIHEBHOM KU3HHA Nel-10 Hrorosas
OK2 Ne2-4, 6, | arrecrauus B
OK3 7 bopme
IK1.4 mipdepenump
K2.1 OBaHHOTO
3ayera
3uanus:
3.1. - NekcuuecKkuii U rpaMMaTHYECKHUH -IPaBUIBLHO - HCIOJIb3YeT Nel-30 Texymumii
MHHUMYM, HEOOXOAUMBIN [JIsl YTEHUs U [ylIOTPEOIATh JEKCUKY B CIy:KeOHBIE CIIOBa ISt KOHTPOJTb
mepeBoaa B3aBHCHUMOCTH OT |opraHu3anuu SHAHUL
(co clIoBapeM) KOMMYHHKAaTHBHOTO COUYMHUTEIBHOU u
1pO(eCCHOHANTbHOOPHEHTHPOBaHHOrO ~ HAMEPCHHA;  00Ianath moxuunanTensHOi cBssu B Nel-13 Krorosas
TeKCTa Ha HHOCTPAHHOM SI3bIKE. ObICTpOIi peakiell NPU npeioxkermn, a  Tawke Nel, 3-5,  arTecTaius B
OK 2 BEIOOpE IEKCHYECKUX  |[OrHuecKOid cBa3u 715 ¢dopme
OK 3 €AMHULL; MIPEIIOKECHUM B YCTHOM H mupdepenuup
- TIPaBHIILHO MUCbMEHHOM TEKCTE; OBaHHOI'O
OK 5
K1 4 coyeTarhb cJI0Ba B|- BEIOMpaeT 3a4eTra
HKZ'l CHHTarMax u Hanboee IO X0 MU I
. MPEUIOKECHUSX; WA KOPPEKTHBIH IS
[1K3.3 - pacro3HaBaTh | KOHKPETHOM CUTyaluu
Ha TICHME W B PEUEBOM CHHOHUM HIIH aHTOHUM.
MOTOKE H3yUYCHHBIC
TIEKCHYECKUE CIMHUIIBI
3.2. - NeKCHYeCKHH M rpaMMaTHUYECKUI -IPaBUIBHO - BEIOMpaeT Nel-3,12 |Texymuii
MUHUMYM, HE00X0IUMBIH JUIsL YIOTPEOJIATh JCKCUKY B Hambolee KOHTPOIIb
3arOJHEHMs aHKET, Pe3loMe, 3asiBJICHUI 3aBUCHMOCTH OT o xo AsIni WIid 3HAHUN
W Ip. KOMMYHHKATUBHOTO .
P . 6 KOPPCKTHBIM AT Nel-13, WroroBas
OK 1 HAMCpCHA, — OOMANATE e vetHOi CUTYaIlUU
OK 2 OBICTpON peakiell mpu P y Nel, 4,6, |arrecranms B
OK 3 BHIOOpE NeKkcHuecknx  CHHOHMM MM aHTOHUM - popme
e ML pa3nnyaeT CXOTHBIE TI0 nnddepeHuup
IK1.4 HaIMCaHUIO U 3ByYaHUIO OBAHHOTO
K21 - TpaBWIBHO COYETATh
) cioBa B cuHTarmMax u </10B&, 3auera
NPeUTOKEHIAX - MOJIB3YETCSI
KOHTEKCTOM
3.3. - OCHOBBI Pa3rOBOPHON IIOHUMATh - otaensieT rnaBHyro | Nell,12, 19 Tekymumii
peun Ha UTHOCTPAHHOM BBICKA3bIBAHU MH(OPMAIUIO OT KOHTPOJIb
SI3BIKE. cobecenHUKa B [BTOPOCTEINEHHOM; 3HAHUHN
OK 1 HanboIee - BBISBIISICT
OK 2 pacrpoCTpaHCHHBIX Hauboee 3HaYMMEIC
OK 3 CUTYaLusX dpaxter, onpexensier ceoe  Nel-13  Hrorosas
K1 .4 [MOBCEHEBHOTO OTHOIIIEHHE K HUM ATTCCTALlNA B
K21 OOILIeHNSL. dopme
) muddepeHIIp
OBaHHOTO
3adeTa
3.4. - mpodeccHOHAIBHBIC TEPMHUHBI H FIIPABIILHO - paznuyaer Nel-4,12, [Texymuit
ONpENENEeHUS UIsl YTEHUSI YePTEkKeEH, yHOTp€6J'I$ITL JICKCHKY B (CXOJHBIC TI0 HAIMCAaHHUIO U 19, 22, KOHTPOJIb
MHCTPYKLHI, HOPMATHBHOM 3aBHCHMOCTH oT 3BYYaHHIO 3HAHMI
JMOKYMEHTALUH. KOMMYHHKATUBHOTO CjloBa,
OK 1 HAMEpEeHHs, 00NamaTh - MOJIb3YETCS
peni a 4 Ne2-4, 6, 7, Utorosas
OK2 OBICTPOI peakieil mpu KOHTEKCTOM,
12 aTTecTalus B
OK 3 BBIOOpE  JICKCHMYECKHX IPOrHO3MPOBAHUEM u (opwe
I1K1.4 € IMHHIIL. pe4yeBOoi  NOTanKoOW mOpHu g o
muddepeHnn
MK2.1 BOCIIPUATHUH THCbMEHHBIX P P
OBaHHOTO

1 YCTHBIX TEKCTOB.

3a4ucra




2. BaHk KOHTPOJILHO-U3MEPHUTENbHBIX MATEPUAJIOB
2.1 3aganus 119 NpoBeeHUs TEKYIIero KOHTPOJIs

3AJIAHUE Ne 1

Tekcr 3ananusd: [epenmmure Teker B Present Simple Tense.

On Monday we had five lessons. The first lesson was Russian. At this lesson we wrote a dictation and
did some exercises. Nick went to the blackboard. He answered well and got a «five». Pete did not get a
«five» because he did not know his lesson. After the second lesson | went to the canteen. | ate a
sandwich and drank a cup of tea. I did not drink milk. After school I did not go home at once. | went to

the library and changed my books. Then | went home. YciioBust BEITIOIHEHUS 3a1aHUS:

1. MakcumanbsHOE Bpems BblloaHEHUs 3a1anus: 10 muH. 2. Bel MmoxeTe
BOCITOJIB30BaThCA AHIVIO-PYCCKUM U PyCCKO-aHIIIMMCKUM CIOBapsIMHU.

3AJIAHUE Ne 2

Tekct 3aganus: 3agaiiTe BOIPOCH! K MPEATI0KEHUSIM.
1. The Greens live in Tomsk. (Where)

2. She lives in Green Street. (Where?)

3. Grace usually has supper at nine o’clock. (When)
4. Tim reads many books. (Does)

5. Sally speaks Spanish. (Does) 6. We have English lessons on Tuesdays and Fridays. (Do ...

7. They work on a farm. (Where)

8. I make my bed in the morning. (Do)

9. The children play in the park, not in the square. (Do ... or...)

10.  They do their homework after school. (When) YcnoBus BeimonHeHUs 3a1aHUS:

1. MakcumasabHOe BpeMs BbIIIOJIHEHUS 3a1anus: 20 MuH. 2. Bbl MoxeTe
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSMHU.

3AJJAHME Ne 3
Tekct 3apanus: [lepeBenure npeasioxeHUs Ha aHTITUHCKUH S3BIK.

S Obu1 yunteneM S neT Ha3ax

Wpuna urpana Ha rutape Buepa

Omna xwuna B [Tapuxke, 2 roga Hazazg

Moii oTen He YnTall ra3eTy CerogHs yTpoM
AHHa coBpaja MHE BUEpa

51 ObLT CYACTIIUB 2TON HOYBIO

Omna ro6uiia 3Ty MallluHy

S rynsana B napke Buepa

© oo N A~ WDNRE

Yca0oBus BEITOJIHEHUS 3aJaHUS:

1. MakcumanbHOE BpeMsl BBITIOJTHEHHUS 3a1aHus: 25 MUH. 2. Bel MoxeTe
BOCIMOJIb30BaThCSI AHIIIO-PYCCKUM U PycCKO-aHIITMHCKUM CIIOBAPSIMHU.

3AJJAHUE Ne 4

Wx He Ob110 371€ch B polLIblid moHeneapHUK 10. Ha npomnutoit Henene Obuta Xopolas moroja.



Tekcr 3apanus: [lepeBeaure npeaioKeHUs Ha AHTIIMNACKUN SI3bIK, UCITOJIb3Ysl CTPaJaTeIbHbINA 3aJI0T.

1.

No o~ wn

8.

Korna Obia KymuieHa 9Ta KHUra?

Onu ObUTH PACCTPOEHBI, TOTOMY YTO IPOUTPAITH.

Ora necHs Obu1a pociymana 10 pa3 Ha JaHHBIH MOMEHT.

OObIuHO, KOTIa MOM OTEeLl IPUXOAUT JIOMOH, Y’KUH YK€ TOTOB.

HyxHO ynucTuTh 3y0OBI MUHUMYM 2 pa3a B JI€Hb.

Korpa s npuiuia B Mara3us, Ty¢uiu emie He ObLIN MPOJIaHBbI.

MockBa 6buTa OcHOBaHa B 1147 roxy.

Ee mMeuTh! ObIIH pa3pyleHbl H3-3a €r0 OTBETA. Y CIIOBUS BBHIIOIHEHUS 3aaHMUs:

1. MakcumanbHOE BpeMsl BBITIOJHEHHUS 3a1aHus: 15 muH. 2. Bbl MoxeTe
BOCIMOJIb30BaThCSI AHIIIO-PYCCKUM U PycCKO-aHTITMHCKUM CIIOBAPSIMHU.

3AJAHHUE Ne 5

Texct 3ananus: Packpoiite ckoOkH, ymoTpedisis riaroisl B Present, Past miam Future Simple Passive.

1.

©COoNo O LDN
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Tom always (to ask) at the lessons.

| (to ask) at the last lesson.

Our country house (to finish) next year.

The dog (to find) by my sister yesterday.

This work (to do) tomorrow.

This text (to translate) at the last lesson.

These trees (to plant) every autumn.

Many interesting games always (to play) at our P.E. lessons.

This bone (to give) to my dog tomorrow.

We (to invite) to a concert last Saturday. YcioBust BBITIOJTHEHUS 3a1aHUS:

1. MakcumanbHOE BpPEMs BBIIIOJIHCHUS 3aJaHUA: 15 muH. 2. BBl MOXETE
BOCIIOJIb30BATHCA AHFJ'IO-py'CCKI/IM u PyCCKO-aHFHHﬁCKHM CJIOBApsIMHU.

3AJAHHUE Ne 6

Tekct 3amanus: Packpoiite ckoOku, ynotpeonss repyaanii. OObsACHHUTE, TOYEMY B JAHHOM CITydae

HaJI0 YIOTpEeOUTh TEPYHIUH.

1.

©COoNo RN
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The doctor insisted on (send) the sick man to hospital.

He was good at (repair) cars.

She was sorry for (come) late.

The children ran out the room and began (play).

He seemed sorry for (be) rude.

The girl had no talent for (dance).

After (check) the students’ papers, the teacher handed them back.
Excuse her for (break) her cup.

She was proud of (win) the prize.

She accused the boy of (steal) her purse.

I don’t mind (open) the window.

| objected to my mother (do my room).

They enjoy (watch) her dancing.

She doesn’t feel like (see) him.

She never approved of her daughter (drink) so much coffee. YcnoBus BeimonaeHus



1. MakcumanbHO€ BpeMsl BhINoJdHEHUs 3aaanus: 20 muH. 2. Bol MmoxeTe
BOCIIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJJAHUE Ne 7

Tekcr 3a1anus: 3anI0OHUTE NPOITYCKHU Ti1aroiaMu B Past Simple.
What your neighbours (to do) yesterday?
Mr. Smith (to fix) his car yesterday morning.
His wife (to water) plants in the garden.
Their children (to clean) the yard and then they (to play) basketball.
In the evening their boys (to listen) to loud music and (to watch) TV.
Their little girl (to cry) a little and then (to smile).
Her brothers (to shout) at her.
Mrs. Smith (to work) in the kitchen.
She (to bake) a delicious apple pie.
She (to cook) a good dinner.
She (to wash) the dishes and (to look) very tired.
The children (to brush) their teeth, (to yawn) a little and (to go) to bed.
Their mother (to change) her clothes and (to brush) her hair. Then she (to talk) on the phone.
Her husband (to smoke) a cigarette and (to talk) to his wife.
They (to wait) for the bus. The bus (to arrive) at 9 o’clock.
They (to visit) their friends.
They (to dance) a lot there.
Mr. and Mrs. Smith (to rest) very well last night. They really (to have) a wonderful time at
their friends.
Y ci10oBUS BBLIITOJIHEHUS 3aaHusA:
1. MakcumansHOE BpPEMs BBIIIOJIHCHUS 3aJaHU: 25 muH. 2. Bl MoXkeTe
BOCITIOJIB30BaTbHCA AHFJ'IO-py'CCKI/IM u PyCCKO-aHFHHﬁCKHM CJIOBApsSIMHU.

©CoNoORrWNRE
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3AZJAHHUE Ne 8

Tekct 3aJaHHUA: Pemmre OpUMEP U HAITMIIWUTEC OTBET CIIOBAMM.
1. eighty-three + twelve = ...
fifteen + two hundred and forty-seven = ...
ninety + one hundred and nine = ...
thirty-one + nineteen = ...
seventy-five + thirty-two = ...
6. three thousand one hundred and twenty + ninety-nine = ...
Y108 BEITOJIHEHUS 3aJaHus:

ar wn

1. MakcumasnbHO€E BpeMs BblnojHeHus 3aaanust: 10 muH. 2. Bel MoxeTe
BOCIIOJIb30BaThCSI AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSMHU.

3AJAHUE Ne 9

Texkcr 3ananus: [ToctaBsTe ritaros B koppekTHoit popme the Past Simple wiu the Present Perfect.

1. Maria (get) some bad news last week. She (be) sad since she (get) the
bad news.



2. | (start) school when | was five years old. | (be) at school since | (be)
five years old.

3. | (change) my job three times this year.

4. 1 (change) my job three times last year.

5. The weather was hot and dry for many weeks. But two days ago it (rain)

6. Tom (break) his leg five days ago. He’s in hospital. He (be) in hospital since
he (break) his leg.

7. Are you going to finish your work before you go to bed? — I (finish) it (already). I
(finish) myworktwohoursago.

VY cnoBUA BBHITTOTHEHNUS 3a0aHNUA:
1. MakcumanbHOe BpeMmsi BbllioaHeHus 3aanusi: 20 MuH. 2. Bel MmoxxeTe
BOCIOJIb30BaThCSI AHIJIO-PYCCKUM U Pyccko-aHTIIMHCKUM CIIOBApsSIMU.

3AJIAHUE Ne 10

Tekcr 3aanus: 3anoIHUTE IPOINyCcKy Tiaroiamu B Past Simple.

1. He (to come) to school after the first lesson yesterday.

2. The weather (to be) cold last week.

3. When | (to be) a little girl I (to spend) summer in the village.

4. Why did you (to return) so late home yesterday?

5. 1 (to get) two good marks in English two days ago.

6. The children did not (to study) English two days ago.

7. Where (to be) you at three o’clock p.m. yesterday? I (to be) at home. YcioBust BeIOTHEHUS
3a1aHuA:

1. MakcumanbHOe BpeMmsi BbllloHeHUs 3a1aHust: 20 muH. 2. Bbl MoxeTe

BOCITIOJIB30BaTbCsA AHFJ'IO-pYCCKI/IM u PYCCKO-aHFHHﬁCKHM CJIOBApsIMH.

3AJIAHHUE Ne 11

Texct 3amanns: COOTHECHTE U COCTaBbTE CIOBOCOYECTAHMS. HepeBe)lHTe.

increase host

benefit of network technology
offer from cloud computing
deploy capability

deliver technology
mainstream pay-per-use service
encompass as a subscription
plethora infrastructure

YcnoBus BEINOIHECHUS 3aaHU:

1. MakcumanbHOe BpeMsi BBINOJMHEHUS 3amanus: 15 muH. 2. Bbl Moxere
BOCIIOJIB30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHIIIMMCKUM CIIOBapsIMHU.

3AJIAHUE Ne 12

Tekcr 3axanus:
3amoyiHUTE MPOIYCKH MOIXOASImUM ciioBoM (Storage, SaaS, applications, laaS, spamfiltering, Paas,
subscription).




- Cloud technology delivers cloud-based .............. and ............. services. - Public cloud gives
businesses access to enterprise-level ................... .

e functions like storage and computing.

e is used to develop and run a website in the cloud or build applications.

e is used for office productivity like email, work processing, number crunching, and
online file sharing.

- Cloud computing provides .................. based service.

Y CII0BHSI BBITIOJTHEHUS 3a/IaHUS:

1. MakcumanpHoe Bpemsl BbINOJHEHUsA 3agaHus: 20 muH. 2. Bbel MoxeTte
BOCIMOJIb30BaThCSI AHIJIO-PYCCKUM U PycCKO-aHIITMHCKUM CIIOBAPSIMHU.

3AJJAHHUE Ne 13

TexcT 3a1aHud;
VYcnoBus BBITONHEHHMS 33/1aHUs: 3aM0OJHUATE MPOITYCKH Tiaroiamu B Present Continuous.

1. You... (not to listen) to the radio, you ... (to read) the letter from your niece.

Clara ... (to take) a bath at nine o’clock yesterday evening.

Monica and her friend ... (to have) coffee in the sitting-room.

Our Granny ... (not to plant) tomatoes in the garden.

Dick ... (to carry) his bag towards the hotel room.

Sally and Frank ... (not to decorate) the classroom, they ... (to prepare) a wall newspaper.
The professor ... (to give) a lecture but some students ... (not to listen) to him.

The nurse ... (not to take) his temperature, she ... (to give) him an aspirin.

The train ... (to arrive) at the station at seven o’clock.

Olga ... (not to wait) for us yesterday evening.

©CooNo GO~ wWD
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1. MakcumanbHoe BpeMsi BbINoJHEeHUd 3ananus: 20 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMU.

3AJTAHHUE Ne 14

Tekct 3aJaHUA: 3aL[a171Te BOIIPOCKHI K IPEATTOKCHUSAM.
1. She was visiting her dentist at two o’clock yesterday. (Whattodo? When?)
. They were having an English lesson at ten o’clock last Monday. (Who? Whatlesson?)
. We were driving towards the village yesterday evening. (Where? When?)
. He was painting the roof of the garage last Saturday. (What? When?)
. You were waiting for your brother at the bus stop. (Whom? Whattodo?)
. My aunt was speaking to the shop- assistant in the supermarket. (Whose? Where?)
. We were walking quickly because of the rain. (How? Why?)
. The dog was barking in the yard. (Whattodo? Where?)
. They were sunbathing on the beach. (Who? Where?)
10. She was painting a picture in her room. (What?Whattodo?) YcioBusi BBITOJTHEHHS
3aJaHus:
1. MakcumasnbHOE BpeMsi BblIIOJHEHUs 3axaHud: 20 MuH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSMHU.

O© 00 NO Ol Wi

3AJIAHUE Ne 15



Tekcr 3aganus: OTBETbTE HAa BOMPOCHI.

- Do people really need Al?

- Can machines be creative?

- How intelligent are human beings?

- Can machines match the reality? - Is Al a friend or an enemy? Y c10BHsI BBITIOJIHEHUS 3aIaHU:
1. MakcumanbHOE€ BpeMsi BBHITIONHEHUS 3amanus: 15 muH. 2. Bbl MoXxere
BOCITIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIVIMICKUM CIIOBapsIMHU.

3AJJTAHHUE Ne 16

Tekcr 3amanus: 3armoiHUTE MPOITYCKU OJTHUM W3 MpeiaraeMbIX IpeuioroB (above/ across/ against/
among/ around/ behind/ towards/ below/ beneath/ beside/ onto/ over/ out of).
1. The cowboy leant the bar in the saloon, drinking a beer.
She took her purse her bag and paid the taxi driver.
Our cat just loves to curl up the fire and go to sleep.
The view from the top of the mountain was breathtaking. We could see the town and the river
us, and people who looked like ants.
Last night the temperature fell to three degrees zero.
The burglar heard a noise coming from upstairs, so he hid the curtains.
The dog jumped my lap, and settled down for a good sleep.
The hunter froze as the tiger started running ___ him. He had nowhere to hide.
She has beautiful works of art all her house, even in the kitchen and the bedroom.

10 These days, politicians like to walk the crowds, shaking hands and saying one or two
words.

11. He climbed the wall and ran the field.
12. The plane took off and was soon flying the clouds.
Y CcnoBUs BBITOJTHEHUS 3aJaHUs:

ENEAEN

©oNoGa

I. MakcumansHoe BpeMsl BbINOJHEHUA 3agaHus: 10 muH. 2. Bbel Moxerte
BOCITOJIB30BaThCA AHIVIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMHU.

3AJJAHHUE Ne 17

Tekct 3amanus: [lepeBenure Ha aHTIMUCKUM.

1. Hawm noka3anu 0o4eHb CTPAHHYIO KapTHHY.
Tebs umyt. Unu nomoi.
Bac Bcex mpuriacsT B 3a1 U paccKaxyT 000 BCEX M3MEHEHHUSAX B IIKOJIBHOI ITporpaMme.
[ToueMy HaJ HUM Bcerja CMErOTCs?
Hawm Bcem nanu OuneTsl Ha BBICTABKY.

3
4
5
6. Jlexuuu 3TOro 3HaMEHUTOrO Mpodeccopa Beeraa CAyIarT ¢ OOIBIINM BHUMAaHUEM.
7. Mens xayr?

8. WM 3amanu Tpu TPYJIHBIX BOIPOCA.

9. 3a mupekropom yxe nociuanu. [Togoxaure HEMHOTO.

10. Bcex npurnacwim B OONBIIOHN 3aJl.

11. Oty nucema npocMoTpeHsl. FIX MOXKHO OTHPaBIATS.

12. Ha craHuuu uX BCTPETHII TUJ M OTBE3 B TOCTUHUILY.

13. DOtu xypHabl JOJKHBI OBITH BO3BPAILIEHBI B OMOIMOTEKY Ha CIIEAYIOIIEH Heele.
14. Ha Hamux 3aHATHSIX MHOTO BHUMAHUS YACJISICTCS TPOU3HOIIECHUIO.

15. ViBaHoBy Besiesid OOBSICHUTH, IIOYEMY OH MIPOITYCKAET 3aHATHUA.



16. Mens npuriacsTt Ha Bail Beuep?
17. Jlereii ocTaBUIU JOMA OJHUX.
Yci10BuUs BBINOTHEHUS 3a1aHUS:
1. MakcumanbHOoe BpeMsi BbIojsHeHus 3amanus: 20 muH. 2. Bbl Moxere

BOCITIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMMCKUM CIIOBapsIMHU.

3AJAHHUE Ne 18

Tekcr 3ananus: [lepeBequre Ha aHTTIUHACKUMN.

1. Ownwm ceituac ykpamiaroT KOMHATY.
OnH xaeT MeHsa?
MB&lI ceifyac He TOTOBUM YKUH. MBI yOupaeMm KyxHIO.
AnHa He maBaet ceituac. OHa Urpaet B BOJICHOO CO CBOUMH JIPY3bSIMH.
Bb1 cniymaere mens? — /la, st ciyiaro Bac BHUMATENBHO.

3
4
)
6. Ceituac s OTABIXAIO B Cafy.
7. Moii Opart uIIeT KaKyr-To HHPOPMAIIUIO AJI CBOETO MPOEKTa.
8. OmHwu ceituac He KpacsT Kpbimy qoma. OHA PEMOHTHPYIOT BOPOTA.
9. JlxeiiH ceituac mpuHUMaeT nym? — HeTt, OHa TOTOBUT 3aBTpax.
10. BsI moete pyku? — Jla.
11. Tgowu mpy3ns TOTOBATCS K KOHIEPTY? — Jla, oHM ceiuac 00Cy Iar0T KOCTIOMBI.
12. Ha ynune uaet g0xK1b.
VYcnoBus BBIOTHEHMS 3a0aHUS:

1. MakcumanpHoe BpeMsl BBINOJHEHUSA 3adaHus: 25 wMuH. 2. Bbel MoxeTte
BOCITOJIB30BaThCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3AJJAHHUE Ne 19

Tekcr 3aganus: 3anoJHUTE MPOITYCKHU Iiarojamu B Present Continuous.
1. Alice and Ron ... (to sit) in a cafe now.

2. It ... (not to snow) outdoors now.

3. We ...(to wait) for our teacher in the classroom.

4.1 ... (to watch) the children playing in the yard.

5. The girls ... (to argue) about what present to buy for Lewis.

6. Andrew ... (not to have) a rest at the moment.

7. Look! All the people ... (to come) into the hall.

8. Unfortunately our experiment... (not to go) according to the plan.

9. Pam ... (to stand) too close to the road.

10. The students ... (not to have) a lecture now.

11. Her health ... (to improve) day after day.

12. The rainforests ... (to disappear) from our planet nowadays.

13. The baby-sitter ... (not to look) after the child because the child ... (tosleep) now.
14. Look! The guide ... (topoint) at some ancient building.

15. I... (not to discuss) this question now. YcoBuUs BEITIOJIHCHHS 3aJaHUS

I. MakcumansHoe BpeMsl BbINOJHEHUsA 3agaHus: 20 muH. 2. Bbel MoxeTte
BOCITOJIB30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIOBapsSIMHU.



3AJJAHME Ne 20

TekcT 3amaHus: 3amoHuTe Ta6n1/1uy MMPEAJIOKCHUAMHU, UCITIOJIB3Yd ITPECAJIOKCHHBIC CJIOBOCOUCTAHU.

The benefits ~ of  Al(Artificial | The downsides of Al(Artificial
intelligence) intelligence)

To take over our lives

To encourage progress

To limit freedom

To misuse data

To supersede people

To increase life expectancy

Toenhanceproductivity YcnoBus

BBIITOJIHCHUA 3aJaHUS .

1. MakcumanpsHoe Bpemsi BbINOJHEHUs 3agaHus: 10 muH. 2. Bbel MoxeTe
BOCTIOJIb30BaThCSI AHIIIO-PYCCKUM U PyccKo-aHTIIMHCKUM CIIOBApSIMU.

3AJJAHUE Ne 21

Tekct 3aganusi: OTBETHTE HA BOIIPOCHI.

1. 'What elements does a circuit consist of?

2. What is the function of a voltage source?

3. What is the function of a conductor?

4. What is the function of a resistor?

5. When is there no current in a circuit?

6. What does an open or a short result in?

7. What does no current in a circuit result from? YcinoBus BeIIOIHEHUS 3aIaHUS:

1. MakcumansHO€ BpeMsl BBINOJHEHUA 3adaHus: 15 wmuH. 2. Bbel Moxkerte
BOCIIOJIB30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIOBapsIMHU.

3AJAHHUE Ne 22

Tekct 3aJaHUA: OTBeTHTE HA BOIIPOCHI.

1. How much is the current in the circuit if a 60-volt source is connected to a resistance of t, 600
ohms?

2. How much is the voltage in a circuit having a current equal to 25 amp, if a 25-ohm resistance is
connected to it?

3. A 70.35-ohm resistance is connected to the circuit. How much is the voltage if the current is equal
to

4.5 amp? YcnoBust

BBITIOJTHCHUA 3a1aHUA:

1. MakcumanbHoe BpeMsi BbINoJHeHUs 3ananus: 10 muH. 2. Bbl MoOXkere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMHU.

3AJJAHHUE Ne 23
Tekcr 3aganus: OtBeTbTe Ha Bonpockl. Internet
news




- What advantages has the group mentioned?

- Can you choose any news you like?

- Do you depend on time searching for news?

- What are the disadvantages?

- Is the Internet information always true?

- How about the yellow press? Is it available in the Internet? YcnoBus BbITIOJTHEHHS 3a/1aHUS
1. MakcumanbHOe BpeMsi BBINOJHEHUS 3amanus: 15 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBapsSMHU.

3ATAHUE Ne 24

Tekcr 3aganus: OTBeTbTE Ha BOIPOCHL

Internet shops

- What do you need to make a purchase?

- Are you able to buy anything you need?

- Are the goods always legal?

- Are the prices high?

- What is the advantage of traditional shop in purchasing food and clothes?

- Are you able to get a piece of advice from the shop assistant? - Are you able to ask for help in the
consumer department? YciioBUs BBITTOJTHEHUS 33/1aHUS

1. MakcumanbHOE BpeMsl BBIIOJHEHUS 3adaHud: 15 MuH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSIMHU.

3AJAHHUE Ne 25

Tekct 3aganusi: OTBETHTE HA BOIIPOCHI.

Internet travel agencies

- Do they provide their clients with more full information?

- Do the sites contain any information about the clients' impressions on thetrip?

- Is it convenient for the clients?

- Is the agent's opinion/advice important to you?

- Are you able to get any compensation in the case of your dissatisfaction withthetrip? YcnoBus
BBITIOJTHCHUA 3a1aHUA:

1. MakcumanbHOE BpeMsl BBIIOJHEHUS 3afaHus: 15 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U PyccKko-aHINIMHCKUM CIIOBApSIMHU.

3AJAHHUE Ne 26

Tekct 3alaHusA: OTBeTBTE Ha BOIIPOCHI.

Communication through Internet

- What opportunities do these sites offer to the clients?

- Is it easy to find friends with common interests by the Internet? - Is it
possible to find additional information about the people you communicate
with?

- Are you sure that your correspondence is confidential and nobody can read
it?

-Do you lack visual contact in communication? YcioBus BBIIOJTHEHHS
3alaHusA:



1. MakcumasibHOE BpeMsl BBIOJHEHUS 3agaHus: 15 muH. 2. Bel MOXXeTe BOCHOJIB30BaThCSA AHIIIO-
PYCCKUM U PycCKO-aHTIIMICKUM CIOBapsIMH.

3AJJAHHUE Ne 27

TekcT 3amanusi: 3amoyiHUTE MPOMYCKH MOAXOAsmuM cioBoM (operate, eliminate, store, determine,

enter, subtract, require) 1. The value of digit in abacus ... the position of the pebbles on the wire.

2. Relays ... by means of electromagnets.

3. Punched cards were used ... data into the computer.

4. Machine language information ... on magnetic drums.

5. With the help of abacus people can ..., multiply and divide.

6. Integrated circuit technology ... some discrete components and integrated the others on a single
chip.

7. In the vacuum tubes resistors, inductors and capacitors ... in order to make thewhole system work.

VYcnoBus BBITIONHEHHS 331aHUST:

1. MakcumanbHoe BpeMsi BbinojgHeHUs 3ananus: 20 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMU.

3AJAHHUE Ne 28

Tekct 3amanus:Packpoiite ckoOku, ynorpeous riaron B Gopme PresentContinuous, PastContinuous
wm FutureContinuous.

1.1... (study) Japanese online from 5 till 6 tomorrow evening. 2.
Listen! Why the dogs ... (bark)?

She ... (wear) a yellow coat when I saw her.

They ... (take) their driving test next Monday.

I dropped my wallet when I ... (get) on the bus.

What you ... (do) in my office yesterday?

Bob ... (feel) much better today.

The kids ... (watch) cartoons in their room now.

. I’m afraid she ... (sleep) in ten minutes.

10. We ... (have) teasoon?

Y CII0BYSI BBITIOJTHEHUS 3a/1aHUS:

© oo N kAW

1. MakcumansHOe BpeMsl BBINOJHEHUA 3adaHus: 15 wmuH. 2. Bel Moxkerte
BOCIMOJIb30BaThCSI AHIIIO-PYCCKUM U PycCKO-aHTITMHCKUM CIIOBAPSIMHU.

3AJJAHHUE Ne 29

Tekct 3apanus:IlepeBenure Ha aHTIMICKHIA.

1. Orto nens. E€ aneMeHTaMu SBISIIOTCS UCTOYHHUK MTUTAHUS, COMPOTUBIICHUE U TIPOBOIHUK.

2. llenb COCTOUT M3 UCTOYHHUKA MTUTAHUS, COTIPOTHUBIICHUS U MIPOBOTHUKA.

3. UcTouHHMK TUTaHUS TTPOU3BOJAUT TOK.

4. ConpOoTHBIIEHUE YMEHBIIAET TOK.

5. [IpOBOJTHUK COETUHSIET SJIEMEHTHI 1IETIH.

6. CpaBHUTE LIETIb «a» C LIETbI0 «O». B ueM pa3Huiia Mex 1y HUMu?

7. Yepes 1enb «a» TOK MPOXOIUT, B TO BpeMsl Kak B 1IN «O» Toka HeT. Llenb «0» pazopBaHa.
8. B ienm «0» HET ToKa u3-3a pa3phiBa.



9. Pa3pbIB 1 KOPOTKOE 3aMBIKAHUE — ATO TTOJIOMKH B LIEITH.
10. IlosloMKa B 11enU MOKET IPUBECTH K OTCYTCTBUIO B HEM TOKA. Y CJIIOBHS BBIIIOJIHEHUS 3a1aHUS:

1. MakcumansHoe Bpemsi BbIMoOJHEHUs 3aaanHud: 30 muH. 2. Bbel MoxeTe
BOCITOJTB30BaThCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3AJAHHUE Ne 30

Tekcr 3apanus:IlepeBenure npeayIoKeHUsI HA PyCCKUMN S3BIK.

1. The circuit consists of a voltage source, a resistor and a conductor.

2. A voltage source supplies current.

3. A conductor connects the elements.

4. A resistor reduces current.

5. No current results from an open and a short. YciioBUs BBITOTHEHUS 3a/IaHUS :

1. MakcumasibHOE BpeMs BBITTOJTHCHUS 3aJaHusI: 8 MUH.
2. Bbl MOXeTe BOCIIONIb30BaThC AHIIIO-PYCCKUM U PyccKO-aHTIIMHCKUM CIIOBApSIMH

2.2. 3ananus nJist npoBeaeHus ¢ depeHIIUPOBAHHOIO 3a4eTa.
3aganuga yacTu A

3AJAHME Ne 1

Tekcr 3aganus: BcraBbTe HEOOXOAUMEBIC MTPEIIOTH.

Battery, also electric cell, is a device that converts chemical energy _ electricity.
Strictly speaking, a battery consists __ two or more cells connected _ series or
parallel, but the term is also used ___single cells. All cells consist ___ a liquid, paste, or
solid electrolyte and a positive electrode, and a negative electrode. The electrolyte is an
ionic conductor; one ___ the electrodes will react, producing electrons, while the other
will accept electrons. When the electrodes are connected _ a device to be powered,
called a load, an electrical current flows.

Batteries ___ which the chemicals cannot be reconstituted ___their original form
once the energy has been converted (that is, batteries that have been discharged) are
called primary cells or voltaic cells. Batteries __ which the chemicals can be
reconstituted ___ passing an electric current ___ them ___ the direction opposite that
____normal cell operation are called secondary cells, rechargeable cells, storage cells,
oraccumulators. YcioBus BBITTOJIHEHNS 3aJaHAS

1. MakcumanbHOe BpeMms BbllloJHEHUs 3axaHud: 30 MuH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U PyccKo-aHINIMHCKUM CIIOBApSIMHU.

3AJIAHUE Ne 2

TekcT 3aJIaHUA . HpO‘ITI/ITe texcT. CooTHECHUTE MMPEATIOKCHUC C BBIACIICHHBIMHA CJIIOBAMMU.
An electrical (1) is any material that offers little CONDUCT

(2) to the flow of an electric current. The RESIST

(3) between a conductor and an insulator, which DIFFER is a
poor conductor of (4) or heat, is one of degree ELECTRIC rather

than kind, because all (5) conduct electricity SUBSTANCE to



some extent. A (6) conductor of electricity, such as GOOD silver or
copper, may have a (7) a billion or CONDUCT more
(8) as great as the conductivity of a good TIME

9) , such as glass or mica. A phenomenon known as INSULATE
superconductivity is (10) when certain substances, cooledto  OBSERVE zero,
have nearly (11) conductivity. FINITE YcnoBus BbITIOTHEHUS 3aJaHUS:

1. MakcumasibHOE BpeMs BbIIOJHEHUS 3aaaHus: 30 MuH.

2. Bl MOKeTe BOCIIOIB30BaThCS AHFJ’IO-pYCCKI/IM u PYCCKO-aHFHHfICKHM CJIOBApsSIMHU.

3AJIAHUME Ne 3

Texct 3aganus: [loaroToBbTe MEepeBo] TeKCTa MPo(ecCuoHaANbHON HAPaBICHHOCTH.

Electricity is something that we use every day, and sometimes don’t realize how much we use it, or
depend on it. There are two famous scientists who worked with electricity a lot — Thomas Edison, and
Nicholas Tesla. Both of them made very big discoveries in electricity and science in general. We get
electricity from power plants that send energy to other electricity centers that give it to our homes. It is
difficult to imagine life without electricity now. It is something that is necessary for everyday life for
most people. We need it to work and to relax, to watch TV, to cook and so on. In the past people
didn’t have electricity and I can’t even imagine how they lived. They use candles and oil lamps, stoves
and so on.

Nowadays it is even popular to go on special vacations to places that don’t have electricity. These
places try to give people the experience of living like it was in the past. It also gives you the chance to
find a connection with nature and have a better understanding of the world that we live in. For me,
electricity is a necessity, | use it to play video games, watch television, and read using a lamp.
However, | really enjoy going out to the countryside where we use fire for keeping warm and cook
food.

Thinking about all these makes us understand that we shouldn’t take everything for granted but be
happy about what we have.

Y ca0BHUS BEIIOITHCHUS 3aJaHus:

1. MakcumanbHoe BpeMsi BbinojdHeHus 3axanus: 30 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMU.

3AJJAHUE Ne 4

Tekct 3aJaHUs. HO,Z[FOTOBLTG IEPCBOJ TCKCTA HpO(I)eCCHOHaHBHOﬁ HaIIpaBJICHHOCTHU.

One of the great advantages in the use of the alternating currents is the ease with which the voltage
may be changed by means of a relatively simple device known as a transformer. Although there are
many different applications, the principles of action are the same in each case.

The basic arrangement consists of a laminated iron core forming a closed magnetic circuit on which
two separate windings are mounted. One winding, called the primary, is connected to the a.c. supply,
and the other winding, the secondary, produces a voltage which can have any desired value if the
respective windings are suitably designed.

The transformer relies for its action upon the fact that when a magnetic field passing through a coil
is changed or varied a voltage is produced in the coil. The amount of this voltage is proportional to the
number of turns in the coil and to the rate at which the magnetic field varies.

In general, it is approximately true that the ratio of the primary to the secondary voltage is equal to the
ratio of the number of primary turns to the number of secondary turns. This ratio is not exact because
of leakage effects in the magnetic circuit. YcioBust BBIIOIHEHHUS 3aIaHUS:

I. MakcumansHoe BpeMsl BbINOJHEHUs 3aaanHua: 30 wmuH. 2. Bbel MoxeTe
BOCIIOJIB30BAaThCA AHFJ’IO-pYCCKI/IM u PYCCKO-aHFHHﬁCKHM CJIOBapsMHu.




3AJJAHHME Ne 5

Tekct 3aJaHUA: HO)IFOTOBLTG NepeBoO/ TCKCTa HpO(I)CCCHOHaHLHOfI HaIllTpaBJICHHOCTH.

The Transformer effect can also be obtained with a single tapped winding instead of separate primary
and secondary windings. The arrangement is called an auto-transformer. If the primary winding n
'resents the whole coil, the secondary voltage will be substantially the same proportion of the applied
voltage as the proportion between the turns up to the secondary tapping and the total number of turns.
By interchanging the voltage so that the supply is connected to the smaller number of turns, a voltage
larger than the supply voltage appears across the whole coil. The auto-transformer can thus be used to
obtain a higher or lower voltage than the supply, as in the case of the convential transformer with two
separate windings.

In practice, the use of auto- transformers is limited to fairly small voltage ratios, one reason being
that if a break occurs anywhere in the secondary section of the winding, the primary Voltage is applied
to the apparatus connected to the secondary. With a high primary voltage this would give dangerous
conditions. The chief uses of auto- transformers, are in a.c. voltage regulation and for infrequent
service such as the low-voltage starting of induction motors. YcioBust BeIIOJHEHHS 33 JaHHS
I. MakcumansHoe BpeMsl BbINOJHEHUsA 3agaHus: 30 muH. 2. Bbel Moxkere
BOCIMOJIb30BaThCSI AHIIIO-PYCCKUM U PycCKO-aHIITMHCKUM CIIOBAPSIMHU.

3AJIAHUE Ne 6
Texct 3aganus: [lonroToBbTe MEepeBo] TeKCTa MPodecCHoHANTBHON HAPaBICHHOCTH.
The ancient Greeks knew that when a piece of amber is rubbed with wool or fur it achieves the power
of attracting light objects. Later on the phenomenon was studied, and, the word electric, after the
Greek word 'electron™, meaning amber was used. Many scientists investigated electric phenomena, and
during the nineteenth century many discoveries about the nature of electricity, and of magnetism,
which is closely related to electricity, were made. It was found that if a sealing-wax rod is rubbed with
a woolen cloth, and, a rod of glass is rubbed with a silken cloth; an electric spark will pass between the
sealing-wax rod and the glass rod when they are brought near one another. Moreover, it was found that
a force of attraction operates between them. An electrified sealing-wax is repelled, however, by a wax
rod, and also an electrified glass rod is repelled, by a similar glass rod.

The ideas were developed that there are two kinds of electricity, which were called resinous
electricity, and that opposite kinds of electricity attract one another, whereas similar kinds repel
one another. YcinoBus BBIIOIHEHNS 3a0aHUS

1. MakcumansHoe Bpemsl BbINOJHEHUsA 3agaHus: 30 wmuH. 2. Bbel MoxeTte
BOCIMOJIb30BaThCSI AHIIIO-PYCCKUM U PycCKO-aHIITMHCKUM CIIOBAPSIMHU.

3AJIAHUE Ne 7

Texct3ananus:IloaroroBsTe NEpeBOa TEKCTa MPOPECCHOHATFHON HANPaBIEHHOCTH.

In electrical systems for the generation, distribution and use of electrical energy, considerable control
equipment is necessary. It can be divided into t\v. classes: A) equipment used at the generating and
distributing end; b) equipment used at the receiving end of the system.

Safety switches are used at the point where the power enters the building. They are of the knife type
and are usually enclosed in metallic boxes.

A magnetic contactor is used to make and break the circuit at the points where considerable power
used.

An automatic starter is a device which is used to keep the current from being excessive while
the motor is obtaining full speed. It is a kind of a resistance inserted in series with the direct current
armature. As the motor obtains speed it gradually removes. YcnoBusiBbIoIHeHUsI3a1aHIS:

1. MakcumanpsHoe BpeMmsi BbIMoOJHEHUs 3aaanHug: 30 wmuH. 2. Bbel MoXeTe
BOCITIOJIB30BaTbHCA AHFJ'IO-py'CCKI/IM u PyCCKO-aHFHHﬁCKHM CJIOBapsIMH.


http://oltage/
http://oltage/
http://oltage/
http://oltage/

3AJIAHHUE Ne 8
Tekct 3aJaHHuA: HOZ{FOTOBBT@ NepeBO/J TECKCTa HpO(l)eCCHOHaHBHOﬁ HaIIpaBJICHHOCTH.
Have you ever gotten a shock when you touched a doorknob, or seen sparks fly when you combed
your hair? That's electricity.

Electricity is a type of energy that gives things the power to work. This energy comes from
electrons. Scientists have learned how to use electrons to produce electricity. 1.
Classes of electricity.

The study of electricity may be divided into three classes or branches: magnetism, electrostatics,
and electrodynamics. Magnetism is the property of the molecules of iron and certain other substances
through which they store energy in a field of force because of the arrangement movement of the
electrons in their atoms. Electrostatics is the study of electricity at rest, or static electricity. Examples
of this type of electricity are charges on condenser plates. Rubbing glass with silk produces static
electricity. Electrodynamics is the study of electricity in motion, or dynamic electricity. The electricity
which flows through wires for light and power purposes is a good example of latter type of electricity.
VY CI10BHUS BBIITOIHEHUS 3aaHUA:

1. MakcumanbHoe BpeMmsi BbloJHeHUs 3axanud: 30 MuH. 2. Bel Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSMHU.

3AJIAHUE Ne 9
Tekct 3aJaHus. HO)IFOTOBLTC NepeBO/ TCKCTa HpO(l)eCCHOHaHLHOﬁ HaITpaBJICHHOCTH.

In the generation and distribution of electrical energy it is important to keep the line voltage constant
as the load or speed changes.

Where the load is changed gradually rheostats are used, in installations where the load may change
rapidly automatic voltage regulators are used.

To protect electrical equipment and the wiring from damage due to short circuits and overloads,
fuses or circuit breakers are usually used. The fuse is known to be a device for inserting in the circuit a
strip of metal which melts at a relatively low temperature. The fuse will melt if the current gets above a
certain limit.

A circuit breaker is similar to the magnetic contactor.

Y ca0BuUS BEIIOITHCHUS 3aJaHus:

1. MakcumanbHOE BpEMs BBIIIOJIHCHUA 3a1aHUsA: 30 muH.
2. BBl MOKeTe BOCIIOIL30BaThCS AHFJ'IO-pYCCKI/IM u PYCCKO'aHFHHﬁCKHM CJIOBApsIMH.

3AJIAHUE Ne 10

Tekct 3aJaHUs. HO,Z[FOTOBLTG IEePeBO TCKCTA HpO(I)eCCHOHaHLHOfI HanpaBJICHHOCTH.

An electroscope is a sensitive instrument for detecting small electric charges. It consists of a glass-jar
closed with a stopper of insulting material in which is fitted a varnished glass-tube. A rod passes
through the tube. At the top of the rod there is a metal ball or disc at the bottom of the rod two pieces
of gold leaf are suspended. When is charge is brought near the electroscope, a charge of opposite sign
is induced on the metal ball, and a charge of the same sign appears on the two of the gold leaves.
Since, the two pieces of gold leaf now have charges of like sign they repel each other.

As an example a negatively charged glass rod is brought to the electroscope. A positive charge is
induced on the ball and a negative charge appears on the two pieces of gold leaf.

The polarity of a charge may be determined by means of an electroscope. We charge the
electroscope negatively by touching the ball with the rod of hard rubber which is rubbed with
flannel or silk. If the unknown charge is brought to the electroscope it will induce on the ball a
charge of opposite polarity and on the gold leaves a charge of the same polarity as that of the
unknown charge. Therefore, if the unknown charge is negative, the gold leaves will repel each other;
if it is positive, they will attract.

Y c1oBUS BBIITOJIHEHUS 3a1aHuA:




1. MakcumanbHoe BpeMs BbinojHeHus 3ananus: 30 muH. 2. Bbl Moxere
BOCIIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJJAHME Ne 11
Tekct 3aJaHUs. HO,Z[FOTOBLTG IEPCBOJ TCKCTA HpO(i)eCCI/IOHaJIBHOfl HaIlpaBJICHHOCTHU.
Electric currents and their properties

Conduction is the name normally given to a movement or flow of charges. The charges are usually
electrons, but may also be ions when the conduction takes place in gaseous or liquid conductors, in
which the ions are mobile.

How does the current flow through a wire? A metal is made up of tiny crystals which are visible
under a microscope. A crystal is a regular and orderly arrangement of atoms. As it was explained, an
atom is a complex particle in which tiny electrons move around nucleus. When the atoms are tightly
packed as they are in a metallic solid, some of the electrons move freely between the atoms. These are
called free electrons. Ordinarily, the free electrons move at random through the metal. There must be
some driving force to cause the electrons to move through the metal conductor. This driving force
tending to produce the motion of electrons through a circuit is called an electromotive force or e.m. f.
that moves electric charges from one point in the circuit to another.

When an electromotive force is applied to the ends of a wire the free electrons move in one
direction. It is the movement of the free electrons in a conductor that induces an electric current. The
greater the number of participating electrons, the greater is the flow of current.

No one has ever seen analectic current. We only know of the existence of a current by its effects. A
current can heat a conductor, it can have a chemical action when passing through a solution, or it can
produce a magnetic effect. We can measure currents by observing their heating, their chemical, or
their magnetic effects.

There are some kinds of current, namely: a direct current (d. c, for short), an alternating current (a.
c.) a pulsating current YciioBus BBIITOJTHEHUS 3aJIaHUS
I. MakcumansHoe BpeMmsl BbINOJHEHUA 3agaHus: 30 muH. 2. Bbel Moxkerte
BOCITOJIB30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMHU.

3AJIAHHUE Ne 12
Tekct 3aJaHUs. HOI[FOTOBLTC NepeBO/J TCKCTa HpO(I)eCCHOHaHLHOfI HaIlTpaBJICHHOCTH.
Types of Loading

As to the manner in which loads are applied or transmitted to a structure of machine they may be
considered as static loads, repeated loads, impact and energy loads.

1 .In static, steady or dead loads are forces that are applied slowly and remain nearly constant after
being applied to the body such as the loads on most buildings or the load applied to a bar in the usual
type of testing machine.

Repeated loads are forces that are applied a very large number of times causing a stress in the
material that is continually changing, usually through some definite range. Such are the loads applied
to the connecting rod of an engine is running, the wheel loads on a railroad rail as a train passes over
the rail and similar ones.

Impact loads are forces that are applied to the resisting body in a relatively short period of time. An
impact load, in general, is applied by a moving body when it comes in contact with the resisting
body. The force exerted by the moving body and the period during which it acts in general cannot be
determined. For this reason in some problems it is more satisfactory to calculate the stress and strain
produced by an impact load from the energy delivered to the resisting body by the moving body.
Other Classifications of Loads.-Loads may be classified as distributed loads and concentrated loads.
A distributed load may be uniformly distributed or non-uniformly distributed. A concentrated load is
one whose area of contact with the resisting body is negligible in comparison with the area of the
resisting body. YciaoBus BeITOTHEHHS 33 1aHHS




1. MakcumanbHoe BpeMsi BbimojHeHus 3ananus: 30 muH. 2. Bbl MoXxere
BOCIIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJIAHHUE Ne 13
Tekct 3aJaHUs. HO,Z[FOTOBBTG IEPCBOJ TCKCTA HpO(l)eCCHOHaHBHOﬁ HaIIpaBJICHHOCTH.
Capacity

When two insulated conductors, one of which is charged, are brought into contact, the charge
spreads over both conductors. The uncharged conductor becomes charged. A larger conductor receives
a larger part of the charge. The potential of the two conductors becomes the same as soon as they are
brought into contact, but the quantity of electricity is not the same on each. The larger portion of the
charge is on the larger conductor.

We say that the conductors have not the same capacity for electricity. The capacity of the

conductor depends upon its size.

The capacity of the conductor is measured by the quantity of electricity which must be given to it in
order to raise its potential to a given amount.

From this definition it is seen that if the capacity of a conductor increases while the quantity of
electricity on it remains constant, its potential will become less.
Condenser

Any arrangement by which the capacity of a conductor is increased artificially is called
a condenser. YciioBus BBITIOIHEHUS 3a0aHUA:

1. MakcumanbHoe BpeMsi BbinojdHeHus 3azanus: 30 muH. 2. Bbl Moxere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMHU.

3AJIAHUE Ne 14

Texct 3amanus: [lonroToBbTE MEPEBO] TEKCTA MPOPECCHOHATBHOM HAIIPABIECHHOCTH.

The electron is an extremely small unit, and for thus reason it is not a convenient unit to use in the
measurement of electric current or of quantity of electricity. The presence of an electric current in a
circuit may be detected and its strength may be measured by a number of different methods. Each
method is based upon some effect which the current produces under given conditions.

One of these effects is known as electrolytic dissociation. The properties of most conducting liquids
are such that when a direct current is maintained in them, the constituent elements of the liquid are
separated. For example, when two copper plates are dipped in a solution of copper sulphate and a
direct current is maintained in a liquid entering at one plate, the anode, and leaving at the other, the
cathode, metallic copper leaves the solution and is deposited on the cathode. YcioBus BeimonHeHus
3alaHusA:

1. MakcumansHoe Bpemsl BbINOJHEHUsA 3agaHus: 30 wmuH. 2. Bbel MoxeTte
BOCIMOJIb30BaThCSI AHIJIO-PYCCKUM U PycCKO-aHTITUHCKUM CIIOBAPSIMHU.

3AJJAHME Ne 15

Texct 3aganus: [loaroToBbTe MepeBo] TeKCcTa NpodecCuoHaNbHON HAPaBICHHOCTH.

As a rule electrical equipment operates reliably. Still it does not mean that it deserves no attention. It
is necessary to give the equipment frequent inspections, keep it well cleaned, lubricated and repaired.
Undue heating, vibration, sparking should be immediately removed.

Heating may be due to overload or to a short circuit between turns, lack of oil in bearings.
Vibration may be due to unproper foundation, unbalance in the moving parts of the machine.
Conductors may get heated because of overload or by reason of damage of the insulation of the
conductor.

An electrical machine of any kind requires certain conditions under which it may operate reliably:
temperature and freedom of access of surrounding air, need for protection against dirt, dust, type and
duration of load, etc.




-Rotating machines should be placed on solid foundations.
-Conductors should be protected against mechanical damage. -All
measures of safety precaution must be undertaken.
YCHOBI/IHBLIHOHHCHI/I}IBaI[aHI/IHZ

1. MakcumansHoe Bpemsi BbINOJHEHUsA 3agaHus: 20 muH. 2. Bbel Moxkerte
BOCITOJIB30BaTHCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3apanus yactu B 3AJIAHUE Ne 1
Texcr3amanus: [logroroBere amanor «IIpupoma cTaTHYECKOro 3JIEKTPUYECTBA U €0 MPUMCHEHHUE.)
VY c10BHUS BBIITOJIHCHUS 3alaHusA:

1. MakcumanbpHOe BpEMs  BBIINNOJIHCHUA 3aJaHUS: 15 muma. 2. BBl MOXeTe
BOCIIOJIb30BATbHCA AHFJ'IO-py'CCKI/IM u PYCCKO-aHFHHﬁCKHM CJIOBApsIMHU.

3AJAHHUE Ne 2

Teker 3aganust: CocraBbTe KpoccBopa 1o TeMe «IlomynpoBoaHUKI.
VY coBUs BBINOJIHEHUS 3a/1aHUS:

1. MakcumanbHOoe BpeMsi BbIojgHeHus 3amanus: 20 muH. 2. Bbl MOXere
BOCIIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJIAHUE Ne 3

Tekct 3ananusa: Hanumure scce «IIpupoaHoe 3MeKTpuyecTBOY.
VYcnoBus BEIIOJIHEHMS 33/JaHUS

1. MakcumanpHoe Bpemsi BbINOJHEHUs 3agaHus: 30 wmuH. 2. Bbel MoxeTte
BOCITOJIB30BaTHCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3AJTAHUE Ne 4

Tekct 3aganus: Hamumure acce «ConmHeuHble OaTapeny. Y CIIOBUS
BBIIIOJIHEHUS 3a1aHUS:

I. MakcumansHoe BpeMsl BbINOJHEHUs 3agaHus: 30 muH. 2. Bbel MoxkeTte
BOCITIOJIB30BaThCA AHIVIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJJAHUE Ne 5

Tekcr 3aganust: CoctaBbTe AUATIOT MO TeMe «IEKTPUUECTBO B )KUBOI MPUPOIE».
YcnoBus BBIIOJIHEHMS 3aJaHUS

1. MakcumanpHOe BpeMsl BBINOJHEHUs 3adaHus: 15 wmuH. 2. Bbel MoxkeTte
BOCITOJIB30BaTHCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3AJAHHUE Ne 6

TexkcT 3amaHus: coOCTaBbTE KpOCCBOpPA «McTOYHUKH TOKa.
YcnoBus BEIIOTHCHUS 3aaHUS .

1. MakcumanbHOoe BpeMmsi BbllIOJHEHUs 3axaHud: 20 MuH. 2. Bbl Moxere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U Pyccko-aHINIMHCKUM CIIOBApSIMHU.



3AJJAHUE Ne 7
Texct 3aganus: [lonrotroBeTe pacckas 00 NCIOIb30BAHUU TEXHUKH B PEKJIAMHBIX LEJISAX.
VYcnoBus BBIIOJIHEHMS 3a1aHUS

1. MakcumanbHOe BpeMs BBINOJIHEHUs 3anaHus: 15 wmuH. 2. Bbel MOXere
BOCIIOJIb30BaThCSl AHIJIO-PYCCKUM U PyccKo-aHINIMHCKUM CIIOBApSMHU.

3AJAHHUE Ne 8

TekcT 3amaHus: CocraBbTe JAUaJIor 1o TeMcE ((BJ'IGI(TpOMaF HHUTHBIC ABJICHUA.
Y c10BHUS BEIIOITHESHUS 3aJaHus:

1. MakcumanbHOE€ BpeMs BBITIOJIHEHMsS 3agaHus: 15 wmuH. 2. Bbl moxere
BOCIIOJIB30BaThCA AHIVIO-PYCCKUM U PyCCKO-aHINIMMCKUM CIIOBapsIMHU.

3AJTAHHUE Ne 9

TexcT 3aganust: Bo3pMUTE HHTEPBBIO y OHOTPYIITHUKA «DHEProcOepeKeHHe B OBITY.
VY CI10BHSI BBITIOIHEHUS 3a/1aHUS:

I. MakcumanpsHOe BpeMsl BBINOJHEHUsA 3adaHusd: 15 wmuH. 2. Bel Moxkere
BOCIMOJIb30BaThCSI AHIJIO-PYCCKUM U PycCKO-aHIITMHCKUM CIIOBAPSIMHU.

3AJJTAHHUE Ne 10

Texct 3aJaHUA: CocraBbTe JUaJIor 1o TeMe «Poip HAayYKH B Pa3BUTUH COBPEMCHHOI'O MUpay.
YcnoBus BEINOTHCHUS 3aJaHUS:

1. MakcumanbpHoe BpEMs BBITIOJIHCHUSA 3adaHUA: 15 muH. 2. BBH MOXETE
BOCIIOJIb30BATbHCA AHFJ'IO-py'CCKI/IM u PyCCKO-aHFHHﬁCKHM CJIOBApsIMHU.

3AJAHHUE Ne 11

Texct 3apanust: Hanummre scce «Posib TEXHUKU B pa3BUTHH COBPEMEHHOTO MUPay.
VYcnoBus BBIIOTHEHUS 3aJaHUSL:

1. MakcumanibHOE BpeMs BBIOJHEHUS 3a0aHus: 30 MUH.

2. Bbl MOXeTe BOCIIONIb30BaThCs AHIIIO-PYCCKUM U PycCKO-aHIIIMHCKUM CIIOBApsIMHU.

3AJAHHUE Ne 12
Tekcr 3aganus: Bo3bmuTe HHTEPBBIO y OAHOTpyNIHUKA «COBpeMEHHAsI TEXHUKA U 00pa30BaHUE».
YcnoBus BBIIOJIHEHYS 3aJaHUS

1. MakcumanpsHoe BpeMsl BBINOJHEHUs 3afaHus: 15 wmuH. 2. Bbel MoxkeTte
BOCITOJTB30BaTHCS AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIIOBapsIMHU.

3AJJAHHUE Ne 13

Texkct 3amanusa: CocTaBbTe AUAIOT 1O TeME «POJIb TEXHOIOTHI B COBPEMEHHOM MHUPEY.
Y cimoBus BEITOJTHESHUS 3a1aHUA:

1. MakcumanbHOe BpeMsi BBINOJHEHUS 3adanus: 15 wmuH. 2. Bbl Moxere
BOCIIOJIb30BaThCA AHIJIO-PYCCKUM U PyCCKO-aHTIIMICKUM CIOBapsIMU.



3AJTAHHUE Ne 14

Tekct 3amanus: Hamuiure scce ((COBpCMCHHBIC TCXHOJIOTHH B ) KHU3HU.

VY cnoBus BRITTOJIHESHHUS 3aJaHusd:

1. MakcumanbHoe BpeMs BbimosHeHus 3amanus: 30 wmuH. 2. Bbl Moxere
BOCITIOJIB30BaThCA AHITIO-PYCCKUM U PyCCKO-aHIIIMICKUM CIIOBapsIMHU.

3AJJAHHUE Ne 15

Texct 3apanusa: Hamumte scce «BnusHue pYCCKOﬁ HAYKH Ha Pa3BUTUC COBPCMCHHOI'O MUPa».

Y c10BHUS BEIIOITHESHUS 3aJaHus:

1. MakcumanbHoe BpeMs BbinosiHeHus 3amanus: 30 wmuH. 2. Bbl moxere
BOCIIOJIB30BaThCA AHIVIO-PYCCKUM U PyCCKO-aHINIMMCKUM CIIOBapsIMHU.
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